eIl | Simplification

Type-7 (Square & Cube Root)

What is square root of 16 +6./7
16 +@.f7 1 = e |

(A) 4+ 7 (B) 4 - 7

(€)3+ 7 (D)3 -7
. (0.35)2+0.70 +1

What is the square root of 595

0.19 ?

0.35)2+0.70 +1

(0-85)7+ i +0.19 =1 T s aer &2
2.25

(A) 1 (B) 2

(€) 3 (D) 4

, 12
: 34 == o
What is the value of 125 °

12
Sl — e DI

125
3 2
(a) 13 B) 12
4 2
€ 13 (D) 2%

3
The square root of (0.75) +[0.75 + (0.75)% +

1-0.75

1] is.

(0.75) +[0.75 + (0.75)2 + 1] F1 vt #1 & ?
1-0.75

(A) 1 (B) 2

(C) 3 (D) 4
The difference of two consecutive cube.
T AT =1 1 ST FETE 2

(A) is odd or even/ Tormm =1 &H

(B) is never divisible by 2 /2 & fasma Fft 721
(C) is always even/ Hed TH

(D) None of these / STiad § & =IE &l

6.

10.

11.

12,

The least number of four digits which is a
perfect square is.

I =R 3Tl i FATH HEAT - E 5 ol o F 2

(A) 1204 (B) 1024

(C) 1402 (D) 1420

What is the value of /=1 A/ =1 &?

J29.16+4/0.2916++/0.002916++/0.000029 16

(A) 5.9949 (B) 5.9894
(C) 5.9984 (D) 5.9994

Find the value of 70% + 20% — 903,
702 + 202 — 902 = /T 714 FHIoTu-

(A) -300000 (B) -378000
€0 (D) 378000
What is the value of
V1054 + 196 + 169 + 64 ?
J1054 + 196 + 169 + Jot P F1AA FNE?
(A) 33 (B) 37
(C) 29 (D) 31
What is th 3= 22 .
at 1s the square root o 3+2\5
3-22
7
YW, A FE?
(A) 3-22 (B) 3+242
(€)1 (D) 17

Find the cube root of 287496.
287696 = T H& T I |

(A) 64 (B) 46

(C) 56 (D) 66

What is the value of % ?
63 x V11 .
@_@ R HIH M T ¢

(A) 12 (B) 11

(C) 1/11 (D) 1/12
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13.

14.

15.

16.

17.

18.

19.

20.

. J4913
Find the value of ; 2197

4913
3 1 | 04 702
2197 R
(A) 17/13 (B) 13/17
(C) 13/7 (D) 17/7
J96 + 216
i —_—
What is the value of e ;
J96 + /216 e
J24 '
(A) 8 (B) 4
(C) 5 (D) 10
What is the wvalue of 121 +412321+
\/1234321 + \f123454321?
V121 +J12321+ 1234321 + 123454321
HHE FE?
(A) 12345 (B) 123456
(C) 12344 (D) 123454
The square root of (2722 — 128?) is-

(2722 - 1282) =l T @ 41 BN~

(A) 256 (B) 200

(C) 240 (D) 144

The square root of which of the following is a ra-
tional number —

feAfefiaa # & e srfge v wiET Sen -
(A) 625049 (B) 12549
(C) 135424 (D) 576828

The square root of which of the following is a ra-
tional number -

frefataa & | frmem artget s uftds g 2-
(A) 5823.82 (B) 22504.9
(C) 2460.14 (D) 1489.96

The smallest number that should be added
to the number 8958 so that the result is a
perfect square is—

T =ATH TEA St 8958 H e W v W ot o
e 72

(A) 67 (B) 69

(C) 79 (D) 77

What least number must be sustracted from
923604 so that it becomes a perfect square ?
923604 ¥ FH I A U WA WAL S qME TE TF O
o a9 S ?
(A)78

(C) 83

(B) 79
(D) 84

21.

22.

23.

24,

25.

26.

27.

28.

5808 is multiplied by which smallest num-
ber so that the resultant number will be a
perfect square.

5808 =i f&g Biet ¥ =t W § 7on e o aw

ot ot & S ?
(A) 2 (B) 11
(€))7 (D) 3

The smallest number which is added to
680621, so that the sum becomes a perfect
square will be-

= DIel 1 Bl WA 58 68062 1 H S " A U o

= a9 ST g, e § -
(A) 4 (B) 5
() 6 (D) 8

How many positive integers less than 1000
are multiples of 11 whose square roots are
whole numbers-

1000 ¥ =1 fFa-t s@eT® Hea &, st 11 % o &

A SR T T IO G T2
(A) 2 (B) 4
() 8 (D) 11

What will be add in 6561 x 6565 to make
perfect square ?

6561 x 6565 a1 el s % 7ot ot He 51
(A) 1 (B) 4
()9 (D) 16

If N = (12345) + 12345 + 12346 then /N =?

e N = (12345) + 12345 + 12346 =1, N =?

(A) 12345 (B) 12346
(C) 12378 (D) 12396

If /86-18\5 =a+by5,thena-b="?

A 86 -185 =a+by5 B A a-b=?

(A) 9+.5 B)o-5
(C) 10 (D) - 10

Square root of 139 — 80./3 is—
139 - 80/3 1 Tl 70 Fi?

(A) 53 +8 (B) 53-8
(C) 53 +12 (D) 5J3-12

If\3x2 —4x+34 +3x% —4x-11 =9,

then \/3x? _4x+34 - 3x2 - 4x-11= ?

M \f3x2 —4x+34 +/3x% —ax—11 =97,

T 3x2 —4x+34 -\3x2 —4x-11= ?
(A) 3 (B) 4
(€) 5 (D) 9

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



Mother's Arithmatic * Simplification

(% SOLUTIONS %)

1. (C) V16+647 = J16+2V63 = \/(Jg“ﬁ]“

(0.35)2+0.70 + 1
2.25

2. (C) Lety= +0.19

(0.35)7+2x0.35x1+(1)?

= (1’5)2 +0.19

(0.35+1)2 532
= (1’5)2 —1‘5 + 0.19
=(0.19)>2+0.19=0.81 +0.19=1

RN

12 §/4x125+12
125 125

3
_ #500+12 _ 3\,}512 _ 3[§)
125 125 5

+0.19 = [

3. (A) ?</4

4. (B) J%+[O.75+(0.75)2+1]

0.75)" \
:\,( 0‘25) +[1.75+(0.75)°]

=J1.6875+2.3125=/4=2
3T4: ST e 2 ¥ |
5. (B) fauw fommedi 8 famren (B) v €, it o wamma
T A ST HGA TITH BT SR 2 | A B € |
S - (2)° =8, (3)° = 27
=27 -8=21
21

Sy T 10.5

6. (B) ==l, HewH qiHl 31l *I GE& = 999

4,

3
61 |099

ool i s F e e, S
=999 - 38 =961 = (31)?
. TR T I gaH WA, S o o E
7. (D)
J29.16 ++/0.2916 + /0.002916 + /0.00002916
8. (B) 70® +20°-90°
(70 + 20)2
70%+20%-70%-202-3x70%20%x90
-378000

9. (A) J/1054+14+13+8 =+1089 =33

10.(A) ,’% = \/(3 -2\2)(3-2v2)=3-22
11.(D) 3287696 = 66

4x11 11
17-13

12.(B)

A Aa4913_£
- (A 2197 13

V96 +4216 Y6 + 6
14.(C) T = T =5
15. (C) Vi21++12321++/1234321 ++/123454321

11 + 111 + 1111+ 11111
= 12344

272 272
-125 +128
16. (C) 144 x 400

17.  (QC) In these type of questions we will find non-
perfect square. Conditions for non-perfect
square :-

1. Unit digit mustbe 2, 3, 7, 8

2. "Digital sum" Should be 2, 3, 5, 6, 8

3. For perfect square last two digit should be
equal to "1-24" squares

exa :- 106276 — last two digit are same as
(24)* = 576

So, it is a perfect square

A) 625049 — (digital sum = 8) Non perfect
B) 12549 —» (digital sum = 3) Non perfect

C) 135424 — (digital sum = 1) Perfect Square
D) 576828 — (Unit digit = 8) Non perfect
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18.

19.

20.

21.

22.

23.

24.

(D)

(A) 5823.82 — (unit digit = 2) non perfect

(B) 22504.9 — (only one digit after decimal) non
perfect

(C) 2460.14 — (digital sum = 8) non perfect

(D) 1489.96 — (last two digit same as 14° = 96) per-
fect squares

(A | 95
9 | 8958
81
185 | 858
925

So Required number = 925 - 858 = 67

961
9 [923604
81
1136
1116
2004
1921

(©)

186

1921

So, Required number = 2004 - 1921 = 83

(D) 3x3 |5808
4 [1936
22 | 484
A 8 |
+8 680621
162 406
1645 | 8221
(A) 112 = 121
202 = 484
332 = 1089
5 =1 multiple
last

5, 10, 15, 20, 25, 30

(B) 6561 x 6565 = (6563 - 2)(6563 + 2) = 65632 — 22
So, To get perfect square we will add 4

25. (B) N = (12345)2 + 12345 + 12346

26. (C)

27. (B)

28. (C)

= (12345)2 + 12345 + 12345 + 1
= (12345)2 + 2 x 12345 + (1)2
= (12345 + 1)2 = (12346)2

= /N=12346

V86185 =a+b\5
= \/(9)2 +(JE_>]2 —2xJ5x9=a+b\5

= (9—\/5] = a+b\/g
By comparison,
a=9,b=-1
So,a-b=9+1=10

J139-8045 =[(8)' #(5v3) ~2x8x5VF
=53-8
ATQ, /3x2-4x +34 +V3x2 -4x-11=9

= 3xZ-4x434=9-3x2-4x-11
Doing square of both sides

= 3x2 - 4x + 34 = 81 + 3x? - 4x - 11 -

18 fax2_4x-11
= J3x2_4x-11=2
So, V3x2-4x+34 =9-2=7

= 32 4x+34 -/3x2-4x-11 =7-2=5
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